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K =112 & (EY) (mm) (mm) (mm) (mm) RE
EFERRE BE-#K x5y 7-x6y7 910 105 105 30[ OK
2B BRAE BE-HK x6y7-x8y7 1,820 105 105 60| OK
B BE-#K x8y7-x10y7 1,820 105 105 60 OK
2fERERE BE-HEK x10y7-x11y7 910 105 105 30 OK
MERFERE BE-#AK x11y7-x13y7 1,820 105 105 60| OK
2fERERE BE-HEK x6y6-x8y6 1,820 105 105 61 OK
2MEFEIAR BE-#EK x8y6—x10y6 1,820 105 105 58 OK
WEFERRER BE-#K x10y6-x11y6 910 105 105 30 OK
ERFRIKE BE-EX x11y6-x12y6 910 105 105 30| OK
2fE R RRE BE-EKR x5y5-x7y5 1,820 105 105 60 OK
2fERERE BE-#EK x9y5-x11y5 1,820 105 105 62| OK
MERFERE BE-#A x9y3-x11y3 1,820 105 105 62| OK
WEFERRE BE-#K x8y2-x9y2 910 105 105 30 OK
ERFRIKE BE-EX x9y2-x11y2 1,820 105 105 60| OK
WEFERRER BE-#K x11y2-x12y2 910 105 105 30 OK
2fERERE BE-HEK x7y1-x9y1 1,820 105 105 60 OK
2fE R RRE BE-#K x9y1-x11y1 1,820 105 105 60 OK
2fERERE BE-#EK x11y1-x13y1 1,820 105 105 60 OK
JEFEKRE BE-EX x5y5-x5y7 1,820 105 105 62| OK
ERFERREK BE-#K xTy4-xTy5 910 105 105 30 OK
2R B BE-#HK x7y2-xTy4 1,820 105 105 60| OK
2fE R RIRE BE-EKR xTy1-xTy2 910 105 105 30 OK
2fERERE BE-HEK x8y4—x8y6 1,820 105 105 57 OK
2fE R RIRE BE-EKR x8y2-x8y4 1,820 105 105 60 OK
B BE-#K x9y3-x9y5 1,820 105 105 62| OK
JEBEHRER BE-EX x11y3—x11y5 1,820 105 105 62| OK
B BE-#K x12y4-x12y6 1,820 105 105 60 OK
2fERERE BE-BEK x12y2-x12y4 1,820 105 105 60 OK
2fE R RRE BE-#K x13y5-x13y7 1,820 105 105 60 OK
2fERERE BE-HEK x13y4-x13y5 910 105 105 30 OK
ERFERIKE BE-EX x13y2-x13y4 1,820 105 105 60| OK
R BE-#K x13y1-x13y2 910 105 105 30 OK
2 NE R E BTHT x5y8-x6y8 910 105 105 36| OK
205 /N RIKE BT x6y8-x8y8 1,820 105 105 75| OK
EINB R B4 x8y8-x9y8 910 105 105 371 oK
20 /N RIKE BT x9y8-x10y8 910 105 105 37| OK
20 /NE RIRE BT x10y8-x11y8 910 105 105 371 oK
NN BTHT x11y8-x13y8 1,820 105 105 72] OK
20 /NE RIRE BT x13y8-x14y8 910 105 105 38 OK
2BE/NE RIKE INB 2 x4y T-x6y7 1,820 105 105 711 OK
208 /NE RIKE INER x11y7—x14y7 2,730 105 105 95| 0K
2BEINE RIKE INB 2 x6y6-x8y6 1,820 105 105 52| OK
2BINBRIRK INER x8y6-x9y6 910 105 105 26] OK
20 /NE RIRE INER x9y6-x10y6 910 105 105 28] OK
2BINBRIRK INER x10y6—x11y6 910 105 105 28] OK
2B /NE RIKE INER x11y6—x14y6 2,730 105 105 91| OK
2BEINE RIKE INB 2 x4y5-x6y5 1,820 105 105 75 OK
208 /NE RIKE INEB R x6y5-x9y5 2,730 105 105 90| OK
2B /N RIRE INER x11y5—x14y5 2,730 105 105 90| OK
NN BTHT x4y4-x6y4 1,820 105 105 72| OK
20 /NE RIRE BT xBy4-xTy4 910 105 105 30 OK
ENB R B4 xTy4-x8y4 910 105 105 26 OK
20 /N RIKE BT x8y4-x9y4 910 105 105 26| OK
MENB R B4 x9y4—-x10y4 910 105 105 28] OK
PN NS BTHT x10y4—x11y4 910 105 105 32| OK
20 /NE RIRE BT x11y4-x13y4 1,820 105 105 741  OK
PN NS BTHT x13y4—x14y4 910 105 105 30| OK
2B /NE RIKE INEB R xTy2-x9y2 1,820 105 105 73] OK
2BEINE RIKE INB R x9y2-x10y2 910 105 105 28] OK
208 /NE RIKE INEB R x11y2-x13y2 1,820 105 105 73] OK
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20 /NE RIRE BT xBy0-x7y0 910 105 105 41| oK
2[E/NB 2R #T x7y0—x9y0 1,820 105 105 75 OK
20 /NE RIRE BT x9y0-x10y0 910 105 105 371 oK
EINB R B4 x10y0—x11y0 910 105 105 40| oK
20 /N RIKE BT x11y0-x13y0 1,820 105 105 75|  OK
MENB R B4 x13y0—x14y0 910 105 105 41| oK
2[E/NB 2R #T x4yT-x4y8 910 105 105 39 OK
20 /NE RIRE BT x4y5-x4y7 1,820 105 105 75 OK
2[E/NB 2R #T x4y4—x4y5 910 105 105 39 OK
208 /NE RIKE INEB R x6y6-x6y8 1,820 105 105 87| OK
2BEINE IR INB R x6y4—x6y6 1,820 105 105 100 oK
205 /N RIKE BT x6y3-x6y4 910 105 105 34| OK
20 /NE RIRE BT xBy1-x6y3 1,820 105 105 72| OK
2[E/NB 2R #T x6y0—x6y1 910 105 105 38 OK
2B /N RIRE INER x7y0-x7y4 3,640 105 180 153] OK
2BEINE RIKE INB 2 x8y6-x8y8 1,820 105 105 771 OK
2B /NE RIKE INB R x9y4-x9y6 1,820 105 105 95| OK
2BEINE IR IN=ES x9y2-x9y4 1,820 105 105 76| OK
2BENERIKE INER x9y0-x9y2 1,820 105 105 74] OK
2B /NE RIRE INER x10y6-x10y8 1,820 105 105 70| OK
MEINEBBIAR INER x10y2-x10y4 1,820 105 105 46| OK
2BE/NERIKE INER x10y0—x10y2 1,820 105 105 46| OK
2BEINE RIKE INB 2 x11y6-x11y8 1,820 105 105 85 OK
2BE/NERIKE INER x11y5—x11y6 910 105 105 30| OK
20 /NE RIRE INER x11y4—x11y5 910 105 105 30| OK
2BEINEBRIRK INER x11y0—x11y4 3,640 105 180 166/ OK
2B /N RIRE INER x13y0—x13y4 3,640 105 180 153] OK
RENE B BTHT x14y7-x14y8 910 105 105 40| oK
20 /N RIKE BT x14y5-x14y7 1,820 105 105 88| oK
RENE B BTHT x14y4-x14y5 910 105 105 39] oK
PN NS B4 x14y3-x14y4 910 105 105 36| OK
20 /NE RIRE BT x14y1-x14y3 1,820 105 105 72| OK
PN NS B4 x14y0~x14y1 910 105 105 38| OK
1EBEKE BE-#A x2yT-xdy7 1,820 105 105 60| OK
1ERERKE BE-BEK x2y6-x4y6 1,820 105 105 60 OK
1EBEKE BE-#A x3y5-x4y5 910 105 105 32| OK
1iEBERE BE-#K x2y4-x4yd 1,820 105 105 60 OK
1EFERARE BE-#EK x1y3—x2y3 910 105 105 30 OK
1iEBEKRE BE-#K x2y3-x4y3 1,820 105 105 60 OK
1ERERKE BE-BEK x4y3-x5y3 910 105 105 36 OK
1EBEKE BE-#A x5y 1-x6y1 910 105 105 31| oK
1ERERKE BE-HEK x1y6-x1y7 910 105 105 30 OK
1R KE BE-f#EAK x1y4-x1y6 1,820 105 105 60| OK
1iEBERE BE-#K x1y3-x1y4 910 105 105 30 OK
1R KE BE-f#EAK x2y4-x2y6 1,820 105 105 62| OK
1EEEARE BE-#K x5y1-x5y3 1,820 105 105 68| OK
2B R/ 1B/ NERIKE RZE x2y8-x4y8 1,820 105 105 82| oK
2SR/ 1BE/NB RIRE Rz x4y8-x5y8 910 105 120 471 oK
2BEER/1BE/NERIRK iEE3 x5y8-x6y8 910 105 120 47 oK
2RERR/1BE/NB 2K [EES x6y8-x8y8 1,820 105 120 115  OK
2BEER/1BE/NERIRK iEE3 x8y8-x9y8 910 105 120 47 oK
2B R/ 1B/ NERIKE RZE x9y8-x10y8 910 105 105 471 oK
2SR/ 1BE/NB RIRE RZE x10y8—x11y8 910 105 105 471 oK
2B R/ 1B/ NERIKE [EE3 x11y8-x12y8 910 105 105 53] OK
2RERR/1BE/NB 2K [EES x12y8-x13y8 910 105 105 53] OK
2BEER/1BE/NERIRER iEE3 x13y8-x14y8 910 105 105 53] OK
2BEER /1B /NE SRR INE R x0y7-x2y7 1,820 105 105 61| OK
2SR/ 1BE/NB RIRE INE R x2yT-x4y7 1,820 105 105 46 OK
2B R/ 1B /NERIKE KRKRZ x4yT-x6y7 1,820 105 150 144] OK
2PEER /1B /NB RIR R BR/NE x11y7-x14y7 2,730 105 150 140 OK
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2BERR/1E/NE RN INER x0y6-x4y6 3,640 105 180 151] OK
2BEER /1B /NE SRR BRAZ x6y6-x8y6 1,820 105 120 115] OK
2SR/ 1RE/NB R IRE KRXZ x8y6-x9y6 910 105 120 46 OK
2BEER /1B /NE RIKE KRKRZ x9y6-x10y6 910 105 120 46| OK
2BEER /1 BE/NE RIRE KR x10y6-x11y6 910 105 120 46| OK
2BER /1B NERIKE PR/NR x11y6-x14y6 2,730 105 150 140] OK
2BEER /1B /NE SRR RAZ x6y5-x9y5 2,730 105 180 162] OK
2BEER/1BE/NERIRK BR/NE x11y5-x14y5 2,730 105 150 140 oK
2RERR/1BENB 2K INEB R xOy4-xdy4 3,640 105 180 151] OK
2SR/ 1BE/NB RIRE Rz xdy4-x6y4 1,820 105 150 124 oK
2BEER /1B /NE SRR RKZE x6y4—xTy4 910 105 270 46 oK
2BEER/1RE/NE RIRE KRR xTy4-x9y4 1,820 105 270 222 oK
2SR/ 1BE/NB R IRE KRKRZ x9y4-x11y4 1,820 105 270 268 OK
2BEER /1B /NE SRR BRAZ x11y4-x13y4 1,820 105 210 147]  OK
2SR/ 1BE/NB RIRE KRXZ x13y4-x14y4 910 105 210 52| OK
2BEER /1B /NE SRR INB R x0y3-x3y3 2,730 105 105 99| oK
2SR/ 1BE/NB RIRE INEER x3y3-x4y3 910 105 105 23] oK
2BEER /1B /NE SRR INEBR x4y3-x6y3 1,820 105 105 741 OK
2BEER /1B /NE SRR BFHT x0y2-x3y2 2,730 105 120 109] OK
2FBEER/1BE/NB R IRE BT x3y2-x4y2 910 105 120 34| oK
2BEER /1B /N SRR BFHT x4y2-x6y2 1,820 105 120 57| OK
2BEER /1B /NE RIKER PR/NR x9y2-x10y2 910 105 105 46| OK
2BEER /1B /NE SRR INB R x4y 1-x6y1 1,820 105 105 711 OK
2SR/ 1BE/NB RIRE Rz x4y0-x6y0 1,820 105 105 84 OK
2BEER/1BE/NERIRK iEE3 x6y0-x7y0 910 105 330 50 OK
2RERR/1BENB 2K [EES xTy0-x10y0 2,730 105 330 274 oK
2BEER/1BE/NERIRK iEE3 x10y0-x11y0 910 105 300 47 oK
2B R/ 1B/ NERIKE [EE3 x11y0-x12y0 910 105 300 471 oK
2SR/ 1BE/NB RIRE Rz x12y0-x14y0 1,820 105 300 185] OK
2[EER/1RE /N 2R BTHT x0y7-x0y8 910 105 105 39] oK
2BEER/1BE/NB R IRE BTHT x0y6-x0y7 910 105 105 39] OK
2BEER/1BE/NB R IRE BT x0y4-x0y6 1,820 105 105 76| OK
2BEER/1BE/NB R IRE BTHT x0y3-x0y4 910 105 105 39] OK
2BEER /1 BENE RIRE BT x0y2-x0y3 910 105 105 40| oK
2BEER /1B /NE RIKE INB R x2y7-x2y8 910 105 105 28] OK
2BEER/1BE/NERIKER INER x3y4-x3y6 1,820 105 105 65| OK
2RBEER /1B /N SRR INB R x3y2-x3y3 910 105 105 28] OK
2BER/1BENERIKER fRZE x4y T-x4y8 910 105 150 55| OK
2BEER/1BE/NERIRK iEE3 xdy6-x4y7 910 105 150 57 OK
2B R/ 1B/ NERIKE [EES x4y4-x4y6 1,820 105 150 137] oK
2SR/ 1BE/NB RIRE Rz x4y3-xdy4 910 105 105 371 oK
2BEER /1B /NE SRR [iEE3 x4y2-x4y3 910 105 105 30 OK
2BEER /1P /NE SRR BFHT x4y0-x4y2 1,820 105 105 87| OK
2BEER/1BE/NERIRER BR/NE x5y 7-x5y8 910 105 105 46| OK
2FEER /1 BENE R BR/NR x5y4-x5y7 2,730 105 150 140 OK
2SR/ 1BE/NB RIRE Rz xBy7-x6y8 910 105 180 56] OK
2BEER /1B /NE IR [iEE3 xBy6-x6y7 910 105 180 56 OK
2SR/ 1BE/NB RIRE Rz x6y4-x6y6 1,820 105 180 158 OK
2BEER/1BE/NERIRK iEE3 x6y3-x6y4 910 105 180 55 OK
2BER/1BE/NERIKER fRZE xBy2-x6y3 910 105 180 55| OK
2BEER/1BE/NERIRK iEE3 x6y0-x6y2 1,820 105 180 149 oK
2B R/ 1B /NERIKE PR/NR x7y6-x7y8 1,820 105 105 93] OK
2BEER/1BE/NERIKER BR/NR xTy4-xTy5 910 105 105 46| OK
2B R/ 1B/ NERIKE PR/NR x7y0-x7y4 3,640 105 210 188] OK
2BEER /1B /NE SRR BRINE x8y7-x8y8 910 105 105 46| OK
2BEER/1BE/NERIRER BR/NE x8y6-x8y7 910 105 105 46| OK
2BEER /1B /NE SRR BRINE x8y4-x8y5 910 105 105 46| OK
2BEER/1BE/NE RIKER PR/NR x8y0-x8y4 3,640 105 210 188] OK
2B R/ 1B /NERIKE PR/NR x9y6-x9y8 1,820 105 105 93] 0K
2BEER/1BE/NERIKER PR/NR x9y5-x9y6 910 105 105 65| OK

KREENRELLREVIHKAETRRINFTY . (FOMDRE LV FREREVULERDSLIICBBRESN-(E)
DEZEWNE, HIF, EAM. hAEEELTGEHREEN- RENOKELZSHR/PDEE T,
DEZEVHT— | ORFHELADNSLBNRTY,

EBROTI\BADOBE - BRBLVEHHIEERRNTY .



REVEERR—EX

H{t:2009E11 H18H 19:41:49

E#3—K:000003
BY4 REIRE

- s SN RNy RiE RELY | BERED
2BEER/1BE/NERIRK BR/NE x9y4-x9y5 910 105 105 46 OK
2BEER /1 BE/NE RN BRARE x9y0-x9y4 3,640 105 330 301| oK
2BEER/1BE/NERIRK BR/NE x10y6-x10y8 1,820 105 120 112 oK
2B R/ 1B/ NERIKE PR/NR x10y4—x10y6 1,820 105 105 93] 0K
2BEER/1RE/NE 2R KRR x10y0-x10y4 3,640 105 270 262| oK
2BEER /1B /NE SRR KRXZ x11y6-x11y8 1,820 105 150 135 OK
2BEER /1P /NE SRR RAKZ x11y5-x11y6 910 105 150 52| OK
2BEER/1BE/NB R IRE KRXZ x11y4-x11y5 910 105 150 52| OK
2BEER /1B /NE SRR BRKZ x11y3-x11y4 910 105 150 46| OK
2BEER/1RE/NE RIRE KR x11y0-x11y3 2,730 105 150 140] OK
2B R/ 1B/ NERIKE PR/NR x12y0—x12y4 3,640 105 210 188] OK
2BEER/1BE/NERIKER PR/NR x13y0-x13y4 3,640 105 210 188] OK
2BEER/1BE/NERIRK iEE3 x14y7-x14y8 910 105 150 47 oK
2REER /1RE/NE IR Rz x14y5-x14y7 1,820 105 150 122] OK
2BEER/1BE/NERIRK iEE3 x14y4-x14y5 910 105 120 47 oK
2B R/ 1B/ NERIKE [EE3 x14y3-x14y4 910 105 120 53] OK
2SR/ 1BE/NB RIRE Rz x14y1—-x14y3 1,820 105 120 105] OK
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2R L 2,730mm FEORR EEE |
[E 105mm ER (BEE@EI<DE) [EUVER 380N/m
HEOFREXRETE=HAB)| XEBEEY  10%ERK X (BER@Eml-O=) |#X 640N/m
HOBEXBEFR |[AERECLSREXRESR) xHRA@EDO=E) | XF 250N/m
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X7 XHEL NEFTER 1,800N/m
Y TREE 9,807N/mm RE-TRETER 1,300N/m
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TR = /Ee B @) @ ©) @ ® ® @ ©) ZhR
ELZEELFEIGE) 910 1820 =

EOMEREERE@ETR)| 25% 40% =
(BB ZE 5 fnfaT 2= BA / (mm) =
(B FE D Fafar = 4% = (mm) =

REIHE EdmaEN) 3433 | 9,085 =
(HH) 1Z 5 it = (N/m) 1515
G+P BRES Tt =(N/m) -
EITFE—A>F M(N-m) 6,380.74 | 8,095.18

WHE 2 (mm) 217 eyt

EAEABAQN) 2,080 | 6,0 -
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